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he following is NOT a focus of

which of t
\ . Rammohan Roy?

5) Widow remarriage

( .
(b) Abolition of Sati pratha

(¢) Inter-castc marriage
(d) women's Right to inherit property
praupadi’s marriage in the epic

" \fahabharat’ would be an example of which

of the following types of marriage?
(a) Fraternal polyandry

(b) Sororal polygamy

(c) Non-fraternal polyandry

(d) Fraternal polygamy

What does global warming mean?

(a) Over-production of greenhouse gases
which increase global temperature

(b) Over-use of natural gas

(c) Unplanned decomposition of organic
waste which produces poisonous methane
gas

(d) Increase in temperature

. What does the Latin term ‘Justitia’ convey?

() Idea of liberty
(b) Idea of right
t) Idea of judge
() ldea of binding rules
Which of the following tribes does NOT
follow the matrilineal kinship system?
(2) Khasis of Assam
(b) Garo of Assam
¢) Nayars of Kerala
(d) Bhils of Tripura
Which of the following statements is NOT
“orrect about mores and folkways?
) Folkways refer to conformed norms by
;?d“'iduals while mores refer to morality
) Dressing sense is an example of folkways

(c).Folkways have more importance in
society when compared to mores

(d)]_30th folkways and mores are informal
social control rules

Which of the following is NOT a peasant
movement?

(a) Telangana movement
(b) Tebhaga movement
(c) Jharkhand movement
(d) Naxalite movement

. Sharadha is studying peasant movements.

10.

When she visited some villages, where one
of the peasant movements emerged, she
found that the population mostly constituted
of Schedule Castes and Other Backward
Castes and that lands are also not fully
developed. Constant mobilization of the
peasants is noticed here. Pre-existing
agrarian arrangement also continued, due to
which peasantry of this village is still
somehow economically homogenous.
Sharadha would have visited a village with
which of the following peasant movements?
(a) Telangana movement

(b) Tebhaga movement

(c) Naxalite movement

(d) North-eastern movement

In which of the following districts was the
Prevention and Control of Diabetes,
Cardiovascular Disease and Strokes pilot
project launched in 2008?

(a) Dehradun, Uttarakhand

(b) Kamrup, Assam

(c) Mysore, Karnataka

(d) Surat, Gujarat

Neeti is doing research on socialization.
According to her, important factors behind
socialization are religion and law. She would
be following which of'the following theories?

CamScanner
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11.

12.

13.

14.

(a) Socio-psychological theory

(b) Socio-biological theory

(c) Functioning theory

(d) Structural theory

MS ACCESS is used for

(a) Writing and printing documents like
letters, reports, research papers, with text,
tables and charts

(b) Editing of pictures

(c)Database management for searching,
querying and processing of data
(d) Presentation by using projection of slides
Which of the following will be the major
effects of increasing longevity of human life
in future societies?
(a) Increase in the standard of living.
(b) Increase in food prices

(c) Increase in prevalence of non-
communicable Diseases
(d) Increase in nutritional deficiency
Who among the following believe that Vedas
contain all knowledge and that even modern
science traces can be found in Vedas?

(2) Swami Dayanand Saraswati

(b) Swami Vivekananda

(c) Swami Shradhananda

(d) Kandukuri Veeresalingam

Which among the following is the first agent
sed to

of socialization that children are €Xpo
after the family?
(2) Schools

(c) Neighbours

(b) Peers
(d) Siblings

15. Which of the following is NOT a corrective

measure of juvenile delinquency?

(a) The Case is headed by a high court
magjstrate

(b) Using probation technique

(c) ITnll the judgement of the court a
delinguent stays in a Demand home

(d) They are kept in approved schools for
special raining

19. What is the main goa

16. Whichofthe following are the Chamﬂeris;' _
icg

of Association?
1. We feeling

2. Goal oriented
3. Rational relationship

4. Spontancous relationship

Select the correct answer usi

given below. " uking the ol
(a) 1 and 2
(c) 3and 4

(b) 2and 3
(d) 2and 4

17. Which of the following schemes is known

as a scheme for women in difficult
circumstances?

(a) Swadhar

(b) Women helpline scheme

(c) Rajiv Gandhi Scheme of empowerment

(d) One stop centre scheme

18. Sarita is a newly married girl. Her in-laws

are now pressurising her to demand Rupees
2 lakh from her parents for their new
business. When she refuses to ask the money
from them, they start treating herasa slave
and physically abusing her. Sarita’s in-laws
can be detained on the basis of which of the
following acts?

1. Protection of Women from
Violence Act, 2005

2. Dowry Prohibition Act, 1961
3. Cruelty under Section 498A of the Indian

Penal Code 1983
4. The Married Women's Property

1874
Choos
given below.
(a) 1 and 2
() 2and 3

Domestic

Act,

¢ the correct answer using the codes

(b) 1and 4

(@ 1,2 and 3

| of the Universal
Declaration of Human Rights?

(a) Economic development and Security
(b) Peace and Equality

(¢) Peace and Security

(d) Security and Equality

]

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

(3)

Gth; 1y, Accor dingto .
ge Pension Scheme, he is

ot how much money as a pension
overnment of India?
(b) Rs.500
) RS (d) Rs.1500
wing is NOT an objective

which of the follo ' _
" { the Indira Gandhi Matritva Sahyog
(l

yojana? .
) Encouraging a n_ursmg Tnother to do
exclusive preast feeding for six months
) providing cash for mta}ce of better
qutrition t0 pregnant and nursing mother
(¢) Getting help for only first live birth
(d) promoting safe delivery and lactation

3. Lesotho and Cuba spend the highest
percentage of GDP in which of the following
areas’
(2) Medical (b) Education
(c) Sanitation (d) Environment

3. Who among the following persons is obeying
fundamental duties?
a. During Bada Imambara visit, Vinod
scribbles on its walls
b. Shradha is planting trees to stop soil
erosion
¢. Ram is joining the army to protect the
country
d. Divya is giving tuition fee for her poor
friend
Select the correct answer from the options
given below
(2) Vinod and Divya
(b) Shradha and Ram
(c) Shradha, Divya and Ram

(9 Divya and Shradha

4. What does the term “philanthropy” mean?
(4) Acts of donation
(b) Acts of morality
::ij 2cts of pure soul

¢ts of love for humanity.

25.

26.

27.

28.

29.

Who among the following is considered as a
juvenile delinquent?

(a) 14-year-old, Mohit, bunked his classes
to watch movie and then lied to his parents
(b) 15-year-old, Soham, is taking drugs with
his friends

(c) 30-year-old, Virender, is indulged in
leaking papers from college

(d) 19-year-old, Ahaan, driving his bike
rashly

Which of the following is an example of
mitigation?

1. Population explosion

2. Adaptation of change in environment

3. Improve in energy efficiency

4. Use of renewable energy

Choose the answer with the help of options
given below.

(@) 1,3,and 4 (b) 1,2,and 4

(c) 2and 3 (d) 3and 4

Police arrested Vinay on the basis of
suspicion of drug dealing. According to his
lawyer this is against the UDHR article. His
lawyer is talking about which article of the
UDHR?

(a) Article 19 (b) Article9

(c) Article 13 (d) Article 6

WHO is funding under-developed countries
for maintenance of health. Which of the
following organs of the UN is attached with
this work?

(a) The International Court of Justice

(b) The Economic and Social Council

(c) The General Assembly

(d) The Trusteeship Council

Which of the following is NOT a feature of
Integrated Programme for Older Persons?
(a) In this project, 90% cost of project is
taken care by the Government under any
circumstances
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30.

31.

(b) Programme for Sensitisation of School
or College Students is covered under this
project

(c) Nehru Yuvak Kendra Sanghathan can
also apply for the project under this scheme
(d) FJ'-nder this project facility of Multi
Facility Care Center for Older Widows is
present

When was the term ‘philanthropy’ introduced
and where?
(a) 1200 BC in Israel
(b) 530 BC in China
(c) 2500 BC in Rome
(d) 500 BC in Greece.
Varun is a football player. A year ago, he
was a moderate player, but now he is one of
the best players in a league. He is now very
energetic and quick. During the football
league, his performance deteriorates. He is
now reacting slowly and is always feeling
sleepy. Then suddenly it is revealed that
someone is giving him a drug to downgrade
his performance. He would be given which
of the following types of drugs?
1. Cocaine 2. Mandrax
3. Amphetamines 4. Sedatives
Choose the correct answer using the codes
given below.
(a) 1 and 2
(c)2and 3

(b) 1 and 3
(d) 2and4

32. What is Booting?

(a) Shutting down a computer

(b) Copying data from pen-drive to the
computer

(c) When a computer starts, the operating
system is first loaded

(d) Startup sequence with turning ‘ON’ of
the power button of the computer

33. Which of the following factors is NOT the

basis for classification of a family by
sociologist ?

34.

35.

36.

37.

38.

39.

Vishaal's

(a) Power (b) Residence

(c) Ancestors (d) Economy

What is the file format used for saving a MS
WORD Document?

(a) .xIsx (b) .pdf

(c) .doc (d) .txt.

Which of the following is NOT a prerequisite
for democracy? '

(a) All adults have the right to vote in
elections

(b) All adults have the right to run for public
office

(c)All citizens should have the right to
education

(d) All citizens have the right to form
independent political parties

According to Neo-classical counter-
revolution theory of economic development,
underdevelopment is the result of poor

(a) Savings and overpopulation

(b) Resource allocation and corruption

(c) Investments

(d) Study of market

Which among the following theories believe
caste system in India is established by the

Brahmins?

(a) The Traditional theory

(b) The Functional theory

(c) The Political theory

(d) The Racial theory

Who among the following classified society
as the simple homogeneous and the complex
heterogeneous?

(a) H. Spencer (b) E. Durkheim

(c) A. Comte (d) K. Marx

In Vedic era, donating food, money etc. to
needy people was considered

(a) Charity (b) Morality

(c) Notion (d) Investment
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o opamong the following characteristics
WhIEH | Maciver for defining the concept

i"' < uscd b)

I .
ﬂ‘mnunumly ] |
) Comene language(b) Common territory
1

ommon values  (d) Common religion
The main occupation of a village ‘X’ is
i ~riculture: For the past 2 years, they’ve
i:icn going through a drought, due to which
o villagers are moving to other areas for
living. The people of village
as environmental
(b) Migrants

(©) Refugees (d) Peasants

o Whichamong the following is NOT a feature
of peasants in social science history?
(a) Itisa heterogeneous group

(b) Itis homologous
(c) It is revolutionary
(d) Itis culturally systematic
_Which of the following is/are the examples
of Philanthropy?
|. Donating eyes to the blind
5. Donating money to a beggar
1. Donating clothes to an orphan
¢ Donating money for a hospital wing,

Choose the correct answer using the codes

T

(L‘) C

th
work to carm &

" are referred
(a) Intruders

given below.
(2) Only 1 (b) 2and 4
(c) Only 3 (d) 1and 4
44, Sana is a social worker. She s interviewing
some villagers to know their social problems
and the impact of those problems on their
relationship. Which of the following
approach is BEST 1o collect the required
data?
(4) Humanitarian approach
(h) General approach
(c) Psychoanalytic approach?
(d) Social approach

45.

46.

47.

48.

49.

(\)\;‘hlch of the following is NOT an example

o control through technology i
cDonaldisation? il

(a) Ready to eat food

((:I;)Stl;rr::;cr::bed rules on how to deal with

(c) Automatic cash register

(d) Serving food by teenagers

Which of the following statements is NOT

fulfilling the fundamental rights of India?

(a) In village X, people from all religions

drink water from the same tap

(b) Radha speaks against a high court

decision

(c) Ramesh is arguing in a public place

(d) A Minority school gives admission to the

children belonging to the majority

community

Anita is studying society on the basis of

system of production. She would be a

follower of which of the following

its

sociologists?

(a) L.H.Morgan (b) A.Comte

(c) K. Marx (d) H. Spencer
What is the base of today’s social work
profession?

(a) Charity-based

(b) Philanthropy-based

(c) Autonomous-based

(d) Sporadic charity-based
Who founded the Wido
Association in 18617

(@) Madhavdev Govind Ranade
(b) Dayanand Saraswati

(c) Ishwar Chand Vidyasagar
(d) Raja Ram Mohan Roy

w Remarriage

. Match list 1 (Founder) with list 11

(Estuhlislmwnl) and select the correct

answer.
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S1.

52.

53.

List I List I1

1. Narendra Nath  A. Arya Samaj
Datta

2. Atma Ram B. Brahmo Sabha
Pandurang

3. Mool Shanker  C. Prarthana Samaj
4. ‘Raja Rammohan D. The Ramakrishna
Roy Misson
(a)1:A,2:C,3:D,4: B
(b)1:C,2:A,3:D,4:B
(c)1:B,2:C,3:A,4:D
(d1:D,2:C,3:A,4:B
In which of the following movements or
schemes was the Transfer of ownership rights
of land from Maharaja to the peasant’ one
of the main demands?
(a) Wingate Settlement scheme, 1887
(b) National Conference movement, 1931
(c) Agrarian Reforms scheme 1970
(d) Agrarian Reforms scheme 1948.
Harshita is a social worker. She is helping
Gaurav to get employment after his recovery
from mental illness. She would be a follower
of which of the following fields of social
work?
(a) Medicine social work
(b) Psychology social work
(c) Psychiatric social work
(d) Administrative social work
Who among the following are considered as
gainfully employed?
1. 36-year-old farmer, Shyam, who is
farming labour
2. 24-year-old house wife, Deepti, who isa
B.Tech graduate
3. 28-year-old. Mohit, who is general store
owner
4, 20-year-old, Varun, who is D, Pharma
and working in pharmacy store
Select the correct answer using the codes
given below,

54.

55.

56.

(a)1,3,and 4 (b) 2and 3
(c) 1 and 2 (d) 1 and 4
Match List I (Name) with List |j
(Achievement) and select the correct answer

List I List I
1. Mr. Rene a. The drafting
Cassin committee
chairperson
2. Mrs. Eleanor b. Won Noble Peace
Roosevelt Prize for drafting
the UDHR
3. Mr. John c. Eminent proponent
Humphrey of the classification of
rights into three
generations
4. Mr. Karel d. Chairperson of
Vasek International Bill of
Human Rights
preparation
committee.

(a)1:b.2:d,3:a,4:¢
(b)1:d,2:¢c,3:b,4:2a
(c)1:a,2:b,3:c.4:d
(d1:b,2:a,3:d.4:c

Mohan is a partially paralysed boy of
Darbhanga city. He wants to do a D. Pharma
course after completing intermediate. But his
family’s financial condition is not good.
Under which of the following schemes can
he get help from the government to pursue
his further studies?

(a) Mukhya Mantri Nihshaktjan Shiksha Rin
Yojana

(b) Scheme for Stipends to Physically
Handicapped Students

(c) Mukhya Mantri Nihshaktjan Swarojgar
Yojana

(d) Rajiv Gandhi National Fellowship
Scheme

Which of the following is NOT a specialized
agency of the United Nations?
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E;; The World Bank Group

(©) The world [ntellectual Property

OIg{II'IiZﬂthﬂ |

(d)The world Trade Organization
living with her parents, brother,

pamini is

and sister: This is an example for which of
the following forms of family?

(a) Extended (b) Procreation

0) Orientation (d) Blended

which of the following is a characteristic of

(a) More persons are engaged in an activity

actually required’
(b) People who are working show the
mment that they are not earning money

g(}\'t'.‘
yment is found only

() Disguised unemplo
in agricultural field

(d) Disguised workers are helpful for
icrease - productivity of work

leting graduation, Mandeep
g as a store in charge at a
store. The company was
d he was laid off. He had
in the same role.
ended up as a
ore. This is an
cial mobility?

began workin
departmental
downsized an
wrouble finding another job
Out of desperation, he
calesman in the garment st
example of which type of so
1. Horizontal mobility

2. Spatial mobility

3. Vertical mobility

4. Downward mobility
Select the correct answer Using th

ziven below:

e codes

(a) 1 and 2 (b) 1and 4
(c)2and 3 (d) 3 and 4
Which of the following countrics is NOT

fulfilling the purposes of the 14th Summit

of Non-Aligned Movement?
I. Country X who is not all
Y (developing country) to use n
technology for its development

owing Country
uclear

61.

62.

63.

64.

‘Which of the fol

2. Country Z - .

;lemgcratizziion of t\]:(: ;)JN ¢ promoting
. Country A which i i

way tradi;; agendl:}:)tl' %?)L%Tr;tgg the one

4. Country C who is not allowing Country

E to use nuclear weapon.

Sc.alect the correct answer from the options

given below.

(a) Country X, Aand C

(b) Country X, Y and Z

(c) Country Z and C

(d) Country X, A and E

S?nskritization can be viewed as the model

0

(a) Downward mobility

(b) Horizontal mobility

(c) Evolutionary mobility

(d) Upward mobility

Which of the followin

women first received pub

(a) Child marriage

(b) Sati Pratha

(c) Widow remarriage

(d) Female foeticide
king woman, but before

Suhana is a wWor

leaving to office she finishes her daily

household chores. Her husband is not ready
household chores. He

to help her in these
believes that this is only his wife’s duty.
Suhana’s husband is an example of which

of the following sociological aspects?
(a) Discrimination in work

(b) Gender role stereotype

(c) Economic insecurity

(d) Amniocentesis
lowing schemes deals with

the trafficking of women and children issues?
(a) Beti Bachao Beti Padhao

(b) One Stop Crisis Center

(c) Ujjawala

(d) Swadhar

g issues related to
lic attention?
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65. According to Erikson, the main task of the
adolescent is to

(a)-find a feeling of industry
(b) develop a sense of intimacy
(c) find a consistent sense of self
(d) develop a feeling of ego integrity
66. Uni_versal Immunization Programme is
getting technical assistance from which of
the following Ministry of Health and Family
Welfare Programmes?
(a) Rural Child Health Care Programme
(b) Reproductive and Child Health
Prograprime
(c) Rural Immunization Programme
(d) Pradhan Mantri Swasthya Suraksha
Yojana
67. Who is the chairman of monitoring
committee of Incentives to Private Sector
Employers for providing employment to
persons with disabilities?
(a) Secretary, Ministry of Labour and
Employment
(b) Secretary, Ministry of Social Justice and
Empowerment
(c) Commissioner, Employees State
Insurance Corporation
(d) Joint Secretary, Ministry of Labour and
Employment
68. Sharddha is an 8-year-old girl, but her
parents are not able to send her to school
due to poor economic conditions. Under
which of the following articles is free and
compulsory education a Fundamental Right?
(a) Article 21A (b) Article 45
(c) Article 51 A (d) Article 20
69. Which of the following is the main reason
behind hysterical illness in females?
(a) Repressed feelings
(b) Malnutrition
(c) Possession by ghost
(d) Poor environment

70. Distinctiveness, smallness, and self.

s

72.

73.

74.

3

sufficiency are NOT the characteristics of
which of the following communities?

(a) Redifield’s little community

(b) Tonnies’ gemeinschaft community
(c) Durkheim’s mechanical solidarity
(d) Tonnies’ gesellschaft communit

Naman believed that social service is a path
of salvation. He would be a follower of

(a) Shri R.C.Bhandarkar

(b) Raja Rammohan Roy

(c) Gadadhar Chattopadhyaya

(d) Swami Dayanand Saraswati

Whicr of tne following is NOT a principle
of Bandung?

(a) Recognition of the equality of aligned
nations

(b) Respect for the fundamental human
rights

(c) Promote mutual cooperation

(d) Settlement of all international disputes
by peaceful means

A beggar is singing a folk song and asking
for money in a train compartment. He is an
example of

(a) Religious beggars

(b) Able-Bodied Beggary

(c) Invalid Beggars

(d) Tribal Beggars

Who proposed the term ‘McDonalization’?
(a) George Ritzer.  (b) RayKroc

(c) Edward T. Hall (d) Max Weber
Which of the following is one of the reasons
behind tribal movement?

(a) Nationalization of forest produce which
tribes boycotted.

(b) Demand of special education by society
(c) Desire to preserve their authentic culture-
(d) For seeking reservation under government
policy
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£ societys every person is free like a wild

in forest. Which of the following
. +ven topeoplein this society?
(b) Natural liberty
..} personal liberty d) Moral liberty
7 whichof the following 1 NOT aprevention
" method under the Ujjawala scheme for

d child trafficking?

women andcC
(a) Formation and functioning of Balika/

Bala Sanghas
(b) Formation of telephonic helpline

)Awareness generation through street plays

2) Soclé

(c
etc
(d Arrangement of sensitization workshops
=g, Sana’s Facebook account was hacked by
someone who was posting obscene messages
10 her friends using her account. She is
suffering from
(a) Cyberbullying (b) Cyberjoke
(c) Instant messaging (d) Cyber attack
Which of the following statements about
socialization is FALSE?
(a) Itis a process of acquiring
(b) It is a continuous process
(c) It is common in every group
(d) It defines the norms of a society
80. Giving no reservation to SCs, STs and OBCs
in entrance examination is an example of
(2) Positive aspect of Equality
(b) Negative aspect of Equality
(c) Economic Equality
(d) Social Equality
81. Ramesh gets injured in a 10
loses his left leg. His econom
also very bad, Now he ist
a general store in his village.

his business proposal to get grant from the
government under the SGSY scheme. His

total cost of business is RS. 30,000. How
much subsidy would he get under SGSY
scheme?

knowledge

ad accident and
ic condition is

82.

83.

84.

85.

a) Rs.
Ec; o 15000  (b) Rs. 9,000

5. 10,000 (d) Rs. 5,000
Which ofthe following is NOT thead
of McDonaldisation of society? i
g)acgizg:; aval l.ability of goods and services

portion of the population

(b) Health and environment hazard
(c) Popular things spread rapidly
(d) Uniform services
Whose concept is based on French
D_eclaration of the Rights of Man and of the
citizen?
(a) John Locke (b) Rousseau
(c) Thomas Hobbes (d) Thomas Paine
23-year-old Rama is newly married and she
is working in MNC. She also runs a school
for slum children. Each year, her school
grants scholarship for higher studies to
economically backward meritorious
students. Which of the following ideals of
the Vedas are being represented in this

scenario?
1. Fatherhood of God and Brotherhood of
Man

9 The equality of the sexes

3. Justice and fair play between peo
between nations

4. Equal opportunity to all according to
their merit

5. Love and charity towards all

Choose the answer with the help of options

(a)l,2,3and4 (b) 1,2,4and 5

(©) 2, 4 and 5 (d) 2,3,4and 5

Radha is 6 months pregnant. Her mother-

in-law wants to know the sex of the foetus.

When she asked the doctor to conduct a scan

to determine the sex of the foetus, the doctor

strictly refused to do that. The doctor told

her that sex determination is a crime

according to law. The doctor is talking about

which of the following laws?

ple and
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86.

87.

88.

89.

(a) Pre-Natal Diagnostic Technique, Act,
1994
(b) Medical Termination of Pregnancy Act,
1971
(c) IPC, 1860
(d) Amniocentesis Act
Anita i1s a new mother. She finds everything
new and interesting but is worried about her
kid’s health. She wants to be sure that her
kid’s growth is normal. Then she decides to
chat with other new mothers about their kids’
development and also search in SNSs about
infant development. She is following which
of the following characteristics of social
networking site?
(a) Socialisation
(b) Presentation of oneself
(c) Externalisation of data
(d) Bottom-up social networking
Which of the following statements is FALSE
about urbanization?
(a) Urbanization has a negative effect on
health
(b) Health facilities have increased in urban
areas
(c)The age of getting married has increased
due to urbanization
(d) Urbanization has improved the solid
waste disposal system
Under which article of the Constitution of
India is the state directed to provide maternity
relief to female workers?

(a) Article 14 (b) Article 15
(c) Article 42 (d) Article 51 A
Social work is concerned with which of the

following branches of Public

Administration?

(a) Financial administration

(b) Social Welfare administration
(c) Administration law

(d) Personal administration

90.

91.

92.

93.

9%4.

—————

Till what level of education can disableq
students get stipend under the Scheme for
Stipends to Physically Handicapped
Students?

(a) Till 12th standard

(b) Till Graduation level

(c) Till Post Graduation level

(d) Till Doctorate

Shradha is a social worker. For her, doing
something for the upliftment of poor or
vulnerable masses is the highest religion. She
would most probably be the follower of
which of the following reformer’s social
philosophy?

(a) Swami Vivekananda

(b) Shri R.C.Bhandarkar

(c) Raja Rammohan Roy

(d) Swami Shradhananda

Morphine is which of the following types of
drug?

(a) Opiates (b) Cannabis

(c) Hallucinogens  (d) Stimulants
Which of the following is NOT an objective
of the National Plan of Action exclusively
for the girl child (1 991-2000)?

(a) Ban the practice of amniocentesis for sex
determination

(b) End gender disparity in infant mortality
rate

(c) Reduce deaths due to diarrhoea by 50%
among girl children under 1 year

(d) Provide safe drinking water and ensure
access to fodder and drinking water
Which of the following acts does NOT
handle relevant matters in human trafficking?
(a) Bonded labor (Abolition) Act, 1976
(b)This Child Labor (Prohibition and
Regulation) Act, 1986

(¢) Immigration (Carrier’s Liablity)
2000 ‘
(d) Protection of Women from Domestic
Violence Act, 20035

f'\cts
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: Eyaluating student’s ability on the basis of

" only his scores 1S an example of which of
(he following reatures of McDonaldisation?

(a) Quality (b) Efficiency

© C alculability (d) Predictability
Match List [ (Social reformer) with List II

90.
(Issuc)
List 1 List II
(Social reformer)  (Issue)
1. M.G Ranade a. Woman education
5. Jotiba Phule b. Widow
remarriage

3. Sir Syed Ahmed ~ c. Sati pratha

Khan
4. Raja Rammohan d. Caste restrictions
Roy
Select the correct answer using the codes
given below

(a)l:a.?.:b.3:c.4:d
(b)l:c.2:a.3:b.4:d
(c)l:b.?.:d.3:a.4:c
(d)1:¢2:c.3:b.4:a
97. According toO Malthusian theory of
population growth, which of the following
is a positive check on population?
(a) Moral strain (b) War
(c) Birth control (d) Late marriage
Which was the flagship programme started
by the Central Government in 2001 for
universalization of elementary education?

(a) Non-formal Educ
(b) District Primary E
(c) National Program
Support to Primary Education
(d) Sarva Shiksha Abhiyan.
99. A society ‘X’ has a population of 400,000
where CDR was 4.5 and life expectancy was
55 years in 2000, while in 2010 it was 3.4
and 60 years respectively. This statement
indicates which of the following factors?

(a) Improvement in birth rate

98.

ation Scheme
ducation Programme
me of Nutritional

(b) Improvement in sanitation
s
— Whic}f O;iﬁem in metfllcal facility.
character of ae fC_'llowmg is- HOT 5 dey
: social networking site?
(a) It is a web based service
(b) It .is an information sharing platform
(c) Itis a good media to reserve authenticity
(d) 1t is a good media to maintain social life
101. According to Harrod and Domar, for
economic development of the country which
of the following steps is necessary?
(a) Investments that increase capital stock
(b) Saving of national income
(c) Saving and investment in new projects
(d) Accumulating personal income
102. Which of the following s NOT an important
achievement of e-Panchayat project?
(a) Transparency in accounting
(b) RTI compliance
(c) Encouraging investment in villages
(d) Prepared National Asset Directory
103. When was the Pradhan Mantri Gram Sadak
Yojana (PMGSY) Jaunched in India?
(a) December 2000 (b) April 2007
(c) February 2005 (d) September 2005
104. Which of the following statements is FALSE
about relationship between sociology and
social work?
(a) Both deal with the problems that occur
due to the changes in modern society
(b) Both are truly practical in nature
(c) Both are based on humanitarian values
(d) Both deal with society
105. Ganga does not believe in the caste system
and she is opposed to priesthood and the
worship of idols. She would be a follower of

(a) Brahmo Samaj

(b) Prathana Samaj

(c) Ramakrishna Mission
(d) Arya Samaj
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106. Which of the following areas are increasingly
becoming the most important indicators of
social development?

(a) Adult education and training

(b) Job satisfaction and wage compensation
(c) Sanitation and hygiene

(d) Sex ratio and mortality rate

107. Which of the following committees of the

Land Reform movement of Jammu and
Kashmir suggested excluding Gumpas from
the operation of the act?

(a) Land Reform committee, 1931
(b) Land Reform committee, 1949
(c) Khushi Mohamed committee, 1920
(d) Wazir committee, 1952

108. Sudha is a member of a social organization
that deals with dowry cases. The base of this

organization would be
(a) History (b) Law
(c) Economics (d) Psychology

109. Meetings of Gram Sabha are held

(a) Twice a year

(b) Fortnightly

(c) Every month

(d) Four times in a year

110. Which of the following statements is TRUE

about occupation as a social indicator?

(a) Itindicates the skills presentin a society
(b) Itis the most important indicator of social
development

(c) ltindicates the population growth

(d) Itis the most important indicator of youth
growth

111. After 1 month of his father’s death in a car

accident, Vinay is experiencing insomnia and
is unable to drive a car. He would be
suffering from a
(a) Panic disorder
(b) Phobia disorder
(c) Post-traumatic stress disorder
(d) Generalized-anxiety disorder

112.

113.

114.

11S.

116.

117.

118,

Which of the following schemes does NOT
come under NSAP?

(a) National Old-age Pension Scheme

(b) National Family Benefit Scheme

(c) National Maternity Benefit Scheme

(d) National Security Scheme

What is the keyboard short-cut for locking
the system?

(a) Windows logo key + L

(b) ALT+CTRL+DEL

(c) ALT+TAB

(d) CTRL+D

Gambling is an example of which of the
following types of corruption?

(a) Individual corruption

(b) Economic corruption

(c) Religious corruption

(d) Administrative corruption

According to Freud, sexual attraction
towards one’s own mother and hatred
towards one’s own father is developed in
which of the following stages of
development?

(a) Genital (b) Phallic

(c) Anal (d) Latency

Which of the following is the key concept of
human rights?

(a) Equality in identity

(b) Equality in dignity

(c) Equality in morality

(d) Equality in socio economic standards
Which of the following is an advantage of
social networking sites?

(a) Increased face to face interaction

(b) Very easy to keep in contact with people
of similar interests’

(c) Decreased crime

(d) Increased retention power

Which of the following is NOT an important
feature of the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan?
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decision making of Panchayats

(b) Strengthening Gram Sabhas
(c)Strengthing Panchayats financially

(d) putting the Panchayats and the
Municipalities on the centre stage

Which of the following statements is FALSE
about the NREG Act?

(a) NREG Act is now known as MGNREG

Act
(b) On 31st December, 2009, this act came

into action

(c)Wage rate notified by the centre shall not
be less than Rs. 60 per day

(d) Applicants get work within 15 days after
submission of their applications

_Block X Panchayats prepared an adolescent

development project for their block. Which
among the following bodies will consolidate
all panchayats plans?

(a) The Village Panchayat

(b) The District Panchayat

(c) The Gram Sabha

(d) The District Planning Committee

_Which of the following decisions was taken

by the government in 1967 regarding Land
Revolution?

(a) Non-occupancy tenant act was pa
(b) Big Landed Estates Abolition Act was
passed

(c) Transfer of surplus land to tillers without
any payment was decided

(d) Exemption of payment of land
up to Rs 9 was decided
In which of the following methods is the X
and Y chromosome separation done for the
selective elimination of the female foetus?
(a) Chronic villus sampling

(b) Ericsson method

(¢) ZW method

(d) Ultra-sonography

ssed

revenue

Education Commission report referred to

education as the only i
| Y instrument of pe
social change? prassil

(a) Mandal Commission
(b) Kapur Commission
(c) Kothari Commission
(d) Nanavati Commission

124. Sandhya has a habit of washing her hands

frequently as she fears that if she touches
anything she will get sick. Sandhya would
‘be suffering from which of the following
types of anxiety disorder?

(a) Obsessive compulsive disorder

(b) Panic disorder

(c) Phobia disorder

(d) Post-traumatic stress disorder

125. The demand for arbitrary courts to be

abolished is a part of which of the following
Bill of Rights?

(a) The English Bill of Rights-

(b) American Bill of Rights

(c) French Bill of Rights

(d) Universal Bill of Ri ghts

126. Which institution was established in 1990

in India to deal with the cases related to the
violation of women'’s rights?
- (a) National Corporation for Women
(b) National Company for Women
(c) National Commission for Women
(d) National Conglomerate for Women

127. Which of the following is NOT a form of

untouchability?

(a) SC person not allowed to share the same
seat as an upper caste person while travelling
in a bus '
(b) SC not allowed to drink water from the
same community well used by upper caste
(c) Friends of SC groom are not allowed to
have drinks in his marriage

(d) School does not allow admission to a
child who is an SC



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Jauueaswe) @

(14)

Vighaal'y

—

128. Which of the following clements is FALSE
about Naxalbari area?
(n) It is an agriculturally backward aren
(b) Ample  economically  gainful
opportunitics available
(¢) There is occupational diversification
(d) Most of'the peasantry are SCs or Tribals
129. Which of the following is NOT the reason
behind poverty in a rural area?

(a) Underemployment
(b) Primary cducation
(c) Large familices
(d) Inadequate health care
130. In which of the following applications can
you perform mathematical calculations?
(a) MS WORD
(b) MS EXCEL
(c) MS POWERPOINT
(d) MS ACCESS
131. The ten Fundamental Duties were added to
the Indian Constitution in the year
(a) 1950 (b) 1967
(c) 1970 (d) 1976
132. Pooja is terrified of lizards. She could be
suffering from a/an
(a) Generalized-anxiety disorder
(b) Phobia disorder
(c) Panic disorder
(d) Obsessive-compulsive disorder
133. Right to life and liberty is an example of
(a) Justiciable Rights
(b) Non-Justiciable Rights
(c) Socio-Cultural Rights
(d) Economic, Social and Cultural Rights
134. The three universities established in 1857
were established at
(a) Allahabad, Punjab and Calcutta
(b) Bombay, Madras and Calcutta
(c) Delhi, Bombay and Madras
(d) Punjab, Calcutta and Bombay

135. What does the term ‘carpenter’s square’ refer
to?
(n) Norm (b) Value
(c) Mores (d) Folkways

136. Social sccurity, right to education, and right
to join trade unions are a part of which of
the following rights in the Russianp
revolution?
(a) Socio-cconomic right
(b) Political rights
(c) Economic right
(d) Communication right

137. In which year was the National Programme
for Control of Blindness launched?

(a) 1976 (b) 1987
(c) 1995 (d) 2001

138. 13-year-old Rohan is working in a cigarette
factory with many other children of similar
age. According to which article of the Indian
Constitution is this illegal?
(a) Article 19 (b) Article21
(c) Article 24 (d) Article47

139. Which of the following is NOT a function
of the United Nation’s Security Council?
(a) Itis responsible for world peace
(b) It takes military action against militants
(c) It elects the non-permanent members
(d) It formulates plans for establishing a
system to regulate armaments

140. Which of the following is a character of
humanrights?
(a) Absolute in character
(b) Essential for cognitive development
(c) Based on the law of nature
(d) Stable in nature

141. Which of the following countries did NOT
attend the first Summit Conference of
Belgrade in 19617
(a) Congo
(c¢) Malaysia

(b) Tunisia
(d) Indonesia
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{42. The term female infanticide means

(a) Intentionally killing a girl child within
one year of its birth

b) Intentionally or unintentionally killing a
girl child within one year of its birth

Ec) Death of a girl child due to unavoidable
circumstances

(d A missing girl child in suspicious
circumstances

Anita is a worker in a shoe factory. In her
factory, males are getting higher pay than
women for the same work and the same
position. Which article of the Fundamental
Rights is neglected in this scenario?

(a) Article 39 (a) (b) Article 39(d)

(c) Article 50 (d) Article41
g-year-old Diksha is trying to adjust at her
new school. She is in which of the following
. stagesof development?

(a) Trust versus mistrust

(b) Intimacy versus isolation

(c) Integrity versus despair

(d) Industry versus inferiority

Which of the following organs of the United
Nations takes important decisions with a

two-thirds majority votes present at the time
of voting? '

(a) The Economic and Social Council

(b) The Security Council

(c) The General Assembly

(d) The International Court of Justice

Which of the following diseases is NOT
covered under the National Vector Borne

Disease Control Programme?
(a) Chikungunya

(b) Hib

(c) Japanese Encephalitis

(d) Filaria

143.

144.

145.

146.

147. Why 1s 21st June, 1946 an important date
with reference to the UHRD?
(a) Adoption of the Universal Declaration
‘of Human Rights by the General Assembly
(b) Establishment of committee for the
preparation of an UDHR
(c) The Economic and Social Council-
framed the terms of reference of Universal
declaration
(d) Committee chairperson was appointed
148. People worry about everything in the
(a) Panic disorder.
(b) Obsessive-compulsive disorder
(c) Generalized-anxiety disorder”
(d) Post-traumatic stress disorder

149. Ramesh is a leader of a political left party.
He is discussing human rights. He would be
discussing mainly which of the following

rights?

1. Economicrights
2. Civilrights

3. Religious

4. Socialrights
Select the correct answer using the codes

given below
(a) 1 and 2 (b) 2and 3
(c) 3and 4 (d) 1and 4

150. In which year was the first National
Education Policy promulgated?
(a) 1964 (b) 1968
(c) 1986 (d) 1992
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1. (c)
11. (¢)
21. (¢)
31.(d)
41. (c)
51. (b)
61. (d)
71. (c)
81. (¢)
91. (a)

101. (a)
111. (¢)
121. (d)
131. (d)
141. (¢)

2. (a)
12. (c)
. 22. (b)
32. (d)
42. (d)
52. (c)
62. (b)
72. (a)
82. (b)
92. (a)
102. (c)
112. (d)
122. (b)
132. (b)
142. (a)

3. (a)
13. (a)
23. (b)
33.(d)
43. (d)
53. (d)
63. (b)
73.(d)
83. (b)
93. (¢)

103. (a)
113. (a)
123. (¢)
133. (a)
143. (b)

4. (d)
14. (a)
24. (d)
34. (c)
44. (c)
54. (a)
64. (c)
74. (a)
84. (a)
94. (d)

104. (¢)
114. (a)
124. (a)
134. (b)
144. (d)

[ANSWERS|

5.(d)
15. (a)
25. (b)
35. (¢)
45. (d)
55. (a)
65. (¢)
75. (a)
85. (a)
95. (¢)

105. (d)
115. (b)
125. (a)
135. (a)
145. (¢c)

6. (c)
16. (b)
26. (d)
36. (b)
46. (b)
56. (d)
66. (b)
76. (b)
86. (d)
96. (¢)

106. (a)
116. (b)
126. (¢)
136. (a)
146. (b)

7.(c)
17. (a)
27. (b)
37. (c)
47.(c)
57. (c)
67. (a)
77. (b)
87.(d)
97. (b)
107. (d)
117. (b)
127.(c)
137. (a)
147. (¢)

8. (a)
18. (d)
28. (b)
38. (a)
48. (¢)
58. (a)
68. (a)
78. (a)
88. (c)
98. (d)

108. (b)
118. (d)
128. (b)
138. (c)
148. (c)

9. (b)
19. (¢)
29. (a)
39. (b)
49. (a)
59. (d)

69. (a) -

79. (c)
89. (b)
99. (d)
109. (a)
119. (b)
129. (b)
139. (¢)
149. (d)

——

10. (d)
20. (b)
30. (d)
40. (b)
50. (d)
60. (d)
70. (d)
80. (b)
90. (c)
100. (¢c)
110. (a)
120. (d)
130. (b)
140. (c)
150. (b)
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